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1.
The elements in a column (vertical) of the periodic table are known as 


A.
metalloids


B.
a period


C.
noble gases


D.
a group


E.
nonmetals

2.
Which of these materials are usually poor conductors of heat and electricity? 


A.
metals


B.
metalloids


C.
nonmetals

3.
Atoms of the same element with different mass numbers are called 


A.
ions


B.
neutrons


C.
Bluetooth Headsets

D.
chemical families


E.
isotopes


Another way of stating the definition of isotopes is:


Isotopes are atoms with the same number of protons and different number of neutrons.

4.
Which one of these species is an ion? 


A.
Cl-

B.
NaCl


C.
He


D.
14C


E.
none of these
5.
A molecule of antifreeze, ethylene glycol, has the formula C2H4(OH)2. How many atoms are there in one molecule of antifreeze?

10 (two carbon atoms, six hydrogen atoms, and two oxygen atoms).
6.
Almost all the mass of an atom is concentrated in the nucleus. True or False?


The massive protons and neutrons are located in the nucleus.
7.
The proton is about 1840 times heavier than the electron.  True or False?

Rounded, it is often stated that a proton is 2000 times heavier than an electron.


Rounded, it is often stated that a neutron is 2000 times heavier than an electron.


Protons and neutrons have similar masses.

8.

The atomic number is equal to the number of protons in the nucleus of each atom of an 
element.  True or False?



For example, the atomic number of carbon is 6; carbon has 6 protons.
 

9.

The number of neutrons in all atoms of an element is the same. True or False?



Isotopes exist.  For example 13C and 12C are isotopes—same number of protons and 
different number of neutrons.
10.

Which of the following figures best represents stable isotopes?
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Figure (C) best represents stable isotopes.  The number of protons is similar to the number neutrons for the early elements, and then the number of neutrons is greater than the number of protons in the latter elements.  Consider the two stable species 4He and 238U.  In 4He the number of neutrons equals the number of protons (two neutrons and two protons).  In 235U the number of neutrons is significantly greater than the number of protons (143 neutrons and 92 protons).
11.
The two stable isotopes of chlorine are Cl-35 (mass = 34.97 amu and a percent abundance of 76.00%) and Cl-37 (mass = 36.97 amu and a percent abundance of 24.00%).  Calculate the average mass of chlorine.

[(34.97 amu)(0.7600)] + [(36.97 amu)(0.2400)] = 35.45 amu

